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. BREZ BOERALEHE - FIRAL 70% » IITEA L 40% » BHEBEA TR A 5$210,000 -
RIEBM R Bl ?

(A)$1,200,000  (B)$900,000  (C)$630,000 (D)$1,260,000
2. ZREEERE—ER - DS/ NSE B SIS B PO RS - R L A SR NS B S
PRES/ N BREE E RS O R BS36 » SFEMT ¢
TREHEE SIS E ] /1E 5 EERE 2 1428/ NI%=360,000/10,000=36
SEEERERR 1950 B{7 - EHEHER 1920 (7 » B2 A B2 8 (volume variance)
Ffd] ?
(A)9,000(-FF)) (B)$5,400CFRF) (C)$14,400(FF]) (D) $1,080 (FF))

3. MR ER$600,000 » 538k 2Tt A £$320,000 » 47BN T 525 $350,000 -
IO E(E2$1,000,000 - HRARE MRS E—FSINTRE » FIIRTaMERE ?
(AEFEHE ZISFI AR E—S I T2 3% F
B)E—INT » J$FHEH0$50,000
OEFE—FIT - $F/1E10$330,000
DYFE— 0T - J$FHEA0$650,000

4. TIRERZHERA5S$ 2,500,000 » FTAI#5$4,000,000 2 $4E%E » FUBIZR A 20% » S5 H 50
B S 12% > TIREE 2 FI8R 5 F(residual income) B{a] ?

(A)$320,000 (B)$1,280,000  (C)$500,000 (D)$20,000

5. RAEIEIMA R R B HE I ;R25$1,200,000 » {FFHLERR 4 4 > E5RE » HRE LA

FTSHEER R 20% » FAREAITEEER FI$300,000 YW ATHE RS PS8 2 4 A fa] 2

(A)$0 (B) BR&HH$300,000 (CRERLFTHI$240,000 (D)FFLFTA$60,000
6. T TIERFAIE AR A% (Activity-based costing) » EEE@%%E)%E%EEE%*#&DT :
EmiE A S B E N
By 4 6 $200,000
YN 70,000 30,000 $300,000
B B fEGIE Y BLEE M B 2
(A)$150,000 (B)$210,000 (©)$250,000 (D)$300,000

7. BABIAENEHE » B—EZ ALRRAE$600,000 - LA 80% B4 » £ 5%
3?i§ﬂ§ﬁﬂ%§?Et%iﬁ(cunuﬂaﬁveaverage4hneleanﬂngxnodeD_F  FAEMHES 3 BAEE
Bk BRATERERZ 4 BEABHEZ TR » HFERETE A TLERA R 2
(A)$1,228,800 (B)$921,600 (C)$2,400,000 (D)$1,536,000
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— - AA Company manufactures and sells Al chips. The following information was obtained:

Selling price $100
Units sold 12000
Variable manufacturing costs 40
Fixed manufacturing costs 300000
Variable marketing costs 20
Fixed marketing costs 150000

Required: (40%)
1. Compute the breakeven point in units.(5%)
2. Compute degree of operating leverage.(5%)
3. Compute the safety margin in dollars. (5%)
4. How many Al chips must be sold if the target operating income is $50000. (5%)
5. If the budgeted and actual production for AA Company is 15000 Al chips, please
(i) calculate the absorption costing profits. (5%)
(ii) calculate the variable costing profits. (5%)
(iii) reconcile the operating incomes under variable costing and absorption costing. (5%)
6. There is a one-time-only special order of 1000 Al chips at $45. If this special order could be
accepted without incurring any marketing costs and affecting any normal sales, should the company
accept the special order? Show your calculations. (5%)

= - BB Company uses the weighted-average method of process costing. In July, the following data
were summarized:

Units of work in process- beginning inventory 12,500
Percentage completion of beginning work in process units 20%
Units started 87,500
Units completed 62,500
Units of work in process- ending inventory 25,000
Percentage completion of ending work in process units 80%
Spoiled units ?
Total costs added during current period:

Direct materials $600,000

Conversion costs $890,000
Work in process- beginning:

Direct materials 0

Conversion costs $28,000

Direct material costs are added when production is 50% complete. Conversion costs are added evenly
during the process. The inspection point is at the 60% stage of production. Normal spoilage is 10% of
all good units that pass inspection. Spoiled units are disposed of at zero net disposal value.
Required:(25%)
1. Compute equivalent units for each cost category. (10%)
2. Assign total costs to units completed and transferred out (including normal spoilage), to

abnormal spoilage, and to units in ending work in process (including normal spoilage).(15%)
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